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The H. C. F. of 10920 and 15300=60.
8. Since 2 is in the units' place the remainder = 3.

So that the subtraction may be completed 1 must be
borrowed from the 7 in the millions' place, thus the re-
mainder in the millions' place = 6.

4. Length of avenue=3 x 5280 ft. = 15840 ft
L. C. M. of 6, 8, 9, 10 and 12 = 860.

Number of times there are 5 trees in a row =^^^^^^
860

= 44.

15840 15840

^-To-
Total number of trees=i^% ^-^^ +

6 ^ 8 ^ 9
15840

+ -T^sr-= 9284
12

5. Number =2x2x2x2x3x3x 5x5x6x11x17
= 3366000.

Subtraction of Fractions.

Page 57.

The following method will often be found much sim-
pler than the rule given in the text-book:

T i. * , C

b
^^^^

d ^® ^^^^ fractions
;

then r - - = "--^^ - a(d-.^-.cih-a)
h d bd ~ bdT ~~ '

The advantage of this method will be great when the
terms of the fractions are large numbers and nearly
equal to each other.

Examples (xxxi^. Page 57.
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^' 18 ~ 12

-

^^1^^-~JJl) — ii (18 — 12) 1

13x12 166


